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MATHEMATICS (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Unless and otherwise indicated, symbols and notations carry their usual standard meanings.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.

URC-U-MTH/45 [P.T.O.



@us—A / SECTION—A

1. (o) @ wg=E VA @ nxn % awafys iR of ) Rane f ag== v, R ® w gy i
%1 Q& fim-fim 2 x 2 A =f % e R

Consider the set V of all n x n real magic squares. Show that Vis a vector space
over R. Give examples of two distinct 2 x2 magic squares. 10

(b) WHT M,(R) @i 2x2 Ir«fos =gl =1 afew wuf® ¥ = B=[_14 —41]. T

T: My(R) - My(R) Th IRa% ®icww 3, S T(A) = BA g1 9Rwia ®) Tt =1 (&%) =
Y (FfR) Fra Fifm) g A Tia AR, N 1 TeE W Rt s )

1 —
Let M,(R) be the vector space of all 2x2 real matrices. Let B=[ 4 4:'.

Suppose T: M,(R) - M, (R)is a linear transformation defined by T{A) = BA. Find
the rank and nullity of T. Find a matrix A which maps to the null matrix. 10

(¢) lim (tan x)'®® 2% o1 9 P

o
x—3

Evaluate lim (tan x)®? 2%,
X% 10

(d) % 2x+3y=(x-1)2 F Wt e Hepfery)
Find all the asymptotes of the curve 2x +3)y = (x - 1)2. 10

(e) ddgast 2x2 +6y?+322=27 ¥ Wi UHA W WO PR, WY@
x—y—z=0=x—y+2z—9ﬁ'€ﬁﬁ(ﬂ\?ﬂ?ﬂ‘§l
Find the equations of the tangent plane to the ellipsoid 2x? +6y2 +32z2 =27
which passes through the line x-y-z=0=x-y+2z-9. 10

2. (a) I;tan_l(l —i)dxiﬁl M et |

Evaluate I(l) tan~! (1 - l) dx.

X 15
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(b) @nxnﬂlaﬁAaﬁWﬁﬁm,WﬁA=I—2u-uT,3€fu@ﬁl‘éﬁﬂﬂﬁﬂ%|
(i) whem AR % A waf[ 21
(i) whew AR e A Tl R
(i) R % g A 1 IFE@ (n-2) R

(iv)

Define an nxn matrix as A=1 —2u-u’l , where u is a unit column vector.

(i) Examine if A is symmetric.
(i) Examine if A is orthogonal.
(iii) Show that trace (A)=n-2.

(iv)

20

(©) @@mem,mm&@ﬁ,%@f=l=§%m%wm
anfesies o6 x2 +y2% =4, z=237|
Find the equation of the cylinder whose generators are parallel to the line
X _ Yy _z

=2 == d whose iding curve is x2 + 2=4,Z=2-
1 =2 3 R ! 15

3. (@) T %R w fmw A :
flo = j(’)‘(ﬂ -5t +4)(t2 -5t +6)dt
(i) e f(x) % wifae fag Fefe)
() 3 fag Prmfere, sl f(x) =1 T =Ee dm)
(i) ¥ Fog Tramfer, Stel £ o T sferesan €
(iv) w&A f(x) % [0, 5] % fFm vz T, Femfe)
Consider the function f(x)= _[:(t2 -5t +4)(t2 -5t+6)dt.
(i) Find the critical points of the function f(x).
(i) Find the points at which local minimum occurs.

(i) Find the points at which local maximum occurs.

(iv) Find the number of zeros of the function f(x) in [0, 5). 20
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(b) W1 F A demsd 1w 98 2 9 7o F3 o F3 uw Y wem R, S fie w9 @ wRonvg

(c)

2:
T(x;, x5, x3)=(x; +x4 +3x3, 2x; — X5, =3x; + x5 — x3)
a b, cRENNAER (g b, o, TH @@l T ¥? TH @ Py

Let F be a subfield of complex numbers and T a function from F3 — F3 defined
by T(x), x5, x3)=(x; + X3 +3x3, 2X; — x5, -3%; + X, -x3). What are the
conditions on a, b, c¢ such that (a, b, ¢) be in the null space of T? Find the
nullity of T.

If the straight line —l)f—g—g represents one of a set of three mutually

perpendicular generators of the cone 5yz-8zx~3xy=0, then find the
equations of the other two generators.

AT
1 0 2 ~11 M2

A=|2 -1 3| 3R B=| 4 0 1

4 1 8 6 -1 -1

(i) ABT@ Hifv)
(i) | (A) T GRFWR (B) 1@ AR
(i) T W wlrroit & frem w1 v PR
x+2z=3, 2x-y+3z=3, 4x+y+8z=14

Let
1 0 2 il S 2
A=|2 -1 3| and B=| -4 0 1
4 1 8 6 -1 -1
(i) Find AB.

(i) Find det(A) and det(B).
(i) Solve the following system of linear equations :

x+2z=3, 2x-y+3z=3, 4x+y+8z=14
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(b) R T X - Y- = 0% i R 3 Rl fig 1 figea P
a

b2
Find the locus of the point of intersection of the perpendicular generators of
2 2
the hyperbolic paraboloid X Y -2z 15
a? b?

(0 et sfuiRa Tors Al w1 v 6 661 u = x2 +y? + 2% F TW 9E @ A, A
2x + 3y + 5z = 30 T g WfaaEfem B

Find an extreme value of the function u = x2 + y2 + 22

, subject to the condition
2x +3y+52z =30, by using Lagrange’s method of undetermined multiplier. 20

©uves—B / SECTION—B
5. (o) = awa gl € @ A
xcos(%)(ydx +xdy) = ysin(%)(x dy - ydx)
Solve the following differential equation :
xcos(%)(ydx +xdy) = ysin(%)(x dy —ydx) 10

(b) F9-Fd, sh g (0, 2) W O, —2) A TRl B, T TEHVIE TN F1a Hf)
Find the orthogonal trajectories of the family of circles passing through the
points (0, 2) and (O, —-2). 10

() a, b, c% Fu M % fo wfew &=
V =(-4x-3y+az)i +(bx +3y+52) j+(@x +cy+32k
eoff 87 a9 V ) AW Bed ¢ 6 Yau F §9 F A HIOT | ¢ F I HHC|
For what value of a, b, ¢ is the vector field
V =(-4x-3y+az)i +(bx +3y+52 j+{@x +cy+32k

irrotational? Hence, express V as the gradient of a scalar function ¢.
Determine ¢. 10

(d) T CHEHM B8, W SR oW F §, 30 Th R W T §9 /A 961 W gt @ ad @ W
WA T T AR 9, R 79 98 F 9R H o §, §0 AR ¥ & W Wit A
R Farge % SR | fre S | g3 fasm =)
A uniform rod, in vertical position, can turn freely about one of its ends and is
pulled aside from the vertical by a horizontal force acting at the other end of

the rod and equal to half its weight. At what inclination to the vertical will the
rod rest? 10
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(e)

(@)

(b)

(c)

T ¥oohl 58 B ABC R T %91, " & & F1 5WH m ®, A, Baul C W &9 gu §| 34
9% %l fag A ¥ BC T % TR @ fog W ©& @ P % g0 orareq wRT ST 81 g iR

2 2 2 .
frtm g e s o L P-4 _—ab+b o o ap_ gaw BC=b.
2 m g2 +ab+b?

A light rigid rod ABC has three particles each of mass m attached to it at A, B
and C. The rod is struck by a blow P at right angles to it at a point distant from

2 2 2
A equal to BC. Prove that the kinetic energy set up is 1 P% a” —ab+b™ where

2 m q2 +ab+b?’
AB =a and BC=b.

yaw frew faft &1 @m0, e srasa el & g6 Feif, Ik y=e ™, T wom
(CF) FTH 8 2 :
y”+(1—cotx)y’—ycotx=sin2x

Using the method of variation of parameters, solve the differential equation

” +(1 —cotx)y’ —ycotx =sin? x, if y=e* is one solution of CF.
y Yy -y

Ru 7w ofem wem A, W&l A = (3x? +6y)i —14yz j +20x2? k, % T jc A-dF %1 °H
Frmifere, st Cfag (0, 0, 0) A (1, 1, 1) 7% Tt weil @ R # -

) x=t y=t2, z=13

(i) W& @ (0, 0, 0) ¥ (1, 0, 0) Tk Siet W, TR (1, 1, 0) &= @ T (1, 1, 1) 7
(ifi) W@ @ (0, 0, 0) ¥ (1, 1, 1) T Siigd W

F ot feufot & aftony gum &7 SRor f smen fik)

For the vector function A, where A =(3x2 +6y)f —14yz}'+20:<z2 k, calculate
.[c A.dr from (0, 0, 0) to (1, 1, 1) along the following paths :

() x=t y=t2 z=1t3

(i)} Straight lines joining (0, 0, 0) to (1, 0, 0), then to (1, 1, 0) and then
to (1,1, 1)
(iij) Straight line joining (0, 0, 0) to (1, 1, 1)

Is the result same in all the cases? Explain the reason.

TF 38 ADQ Aed BUd C R fasm ot R, s9f% AB = BC = CD. I8 91 T % 3 g%
STEm ARk T R p kg, &g A § SFE1 ST 91 T 9K g kg, g D ¥ dewmn ) ¥ w0
VR SdEY|

A beam AD rests on two supports B and C, where AB = BC =CD. It is found

that the beam will tilt when a weight of p kg is hung from A or when a weight of
g kg is hung from D. Find the weight of the beam.
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7. (a) @Wuﬂwaﬁwﬁaiﬁﬁq,sﬁﬁﬁﬂﬁﬂ%ﬂf=xyf+yz}+xzkﬁmSW%Gﬁﬁa“
A z=1-x2, 0<x<1, -2 <y <2 % fewm 2, st S SuRgeh sifufmra 2)
Verify the Stokes’ theorem for the vector field F =xyf + yz_}'+le€ on the

surface S which is the part of the cylinder z=1-x2 for 0 < x < 1, 2<y<2; Sis
oriented upwards. 20

(b) TTAH TG BT FA FH FRAR TH THAT ty” + 28y’ +2y = 2; Y0) =13 y'(0) &=
B, F T W) 1 38 T w1 T A ¥7

Using Laplace transform, solve the initial value problem ty” +2ty’ +2y =2;
Y(0) =1 and y’(0) is arbitrary. Does this problem have a unique solution? 10

() () TR THFHE T T, MAH R WHE, Faisswdcmemugd i ww
HA WM g R | R WA AN A w1 ¥ e ¥ @ kR O v B,
<0 &ferst fererol % srgfem R, 0 Wra fen n ) 39 TR B2 W wuig PR

(@) T H A VE T g a kR e gE 1 B T R ¥ FE A 99 F g
T H - R EeEq g p ) Ry % w0 A R F By § gmaw g A 2, wwl

V20 =yu? + p2v* . 76l p @ IR R

() A square framework formed of uniform heavy rods of equal weight W
jointed together, is hung up by one corner. A weight W is suspended from
each of the three lower corners, and the shape of the square is preserved
by a light rod along the horizontal diagonal. Find the thrust of the light
rod. 10

(i) A particle starts at a great distance with velocity V. Let p be the length of
the perpendicular from the centre of a star on the tangent to the initial
path of the particle. Show that the least distance of the particle from the

centre of the star is A, where V2A = \/p,z + p2V4 —p. Here u is a constant. 10

8. (@) () T awa wfiww g Hifv
(e +1)%y” - 4(x + 1)y’ + 6y = 6(x +1)2 +sinlog(x +1)

(i)  sTaRa T 9 p2 (2 — y)2 =4(3—y)%amaﬁﬁagaﬁzsrﬁm,aﬁp=%.

() Solve the following differential equation :

(x+1)%y” —4(x + 1)y’ +6y = 6(x +1)2 +sinlog(x +1) 10

(i) Find the general and singular solutions of the differential equation

dy
9p2R-y? =43 - , where p=—<,
pP°2-y 8-y p g 10
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(b) B WEA [[VxF-iidS F "M R, s F=yi+(x-2x2j-xyk @ S
S

(©

URC-U-MTH/45

A x2 +y2 +22 = a2 TR Y, N xy-TA F IR
Evaluate the surface integral HV xF-fadS for F = yf +(x—2m)ji—xyf<\: and Sis
S

the surface of the sphere x? +y2 +2z2 =a? above the xy-plane.
o IR gREl AT ted 7, e 9 e MR, ¥ IR oM gd & | W H FEH 9
qftymo B FRE: moawn k ¥ R afee B r2 9 7% N 99 PN €Y 9 (3F) W

mm%,wmiﬁﬁmﬁﬁmw—gﬂ%mammgﬂmwm
M+

r2

AR =it 1 A T DR g wor 9 g w1 Rk T )

A four-wheeled railway truck has a total mass M, the mass and radius of
gyration of each pair of wheels and axle are m and k respectively, and the
radius of each wheel is r. Prove that if the truck is propelled along a level track

by a force P, the acceleration is and find the horizontal force

omk?’
r2
exerted on each axle by the truck. The axle friction and wind resistance are to

be neglected.

M+

* & K
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